REV-01

NISMU323T

Uuration: 1:30 hrs.

M.SC. MATHEMATICS
FIRST SEMESTER
NUMERICAL ANALYSIS

MSM-1041DMn
JUSE OMR FOR ORJECTIVE PART]

2023/12

SET
A

Full Marks: 35

( EART-A: Objective )

‘Time: 15 mins. Marks: 10
 haose the correct answer from the following: IX10=10
I. Order of Convergence in Newton Raphson’s methad is

a. 2 b. 3
. 0 d. None
2. T'he Newton Raphson’s algorithm for find the cube root of N is
(2x, + - ) : (xn + A )
. Xpst = gled, T 2= e = g v 2
a. 3 Xt b. N T X E
1 5 1
X == (2x, + —
c. netTg Leta % N,\'"’) d. None of the above
3. In the case of Bise: ton method the convergence is
a. Lincar b. Quadratic
¢. Very Slow d. None of the above
4. The Newton Raphson’s methad tails if
a FUee) is negative b £ ) s o large
b e i
c. R i d. None of these
5o The Newton Raphson's algorithm for find the cube root of RIJ" is
a. Xnyr = ¥p(d+ Nxy) b. Xpir = xp(2 = Nxy,)
C. Yot = X (1= Nyy,) d. None of these
Co A malrin is a svinmetric then
P A== h. A=A+ 1
! A=A d. None
To A sguaie matrin can be written as
] 1 1 o1
a. A= -':J-"l + A —6—;(/! - A b. ‘1;2.(/1+Al)_.2.(,1_,|l)
1
C. A= A ) d. All of these
&
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which one of the following is correct

a. (AB)! = A'B? b. {4B)! = Bl A}

c. . (AB)! = AB d. All of these

A malrix is a skew symmetric then

a. A=Al b. A=At 52

c. A =A? d. None

The Newton Raphson’s algorithm for find (he cube root of VN is
1 , ]

a Xy = 5 (xn — EJ N Yn- = 7 (xp + '[\TX_,
1N

c. Fner =5 (¥n + :\,_) d. None of these
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[ Qgcriptive]

Time: 1 hr. 15 mins. Marks: 25

[ Answer question no.1 & any two (2) from the rest |

] - s ks .
- Evaluate the formula to find VN of x,,,, 5
2. a. lvaluale the iterative formula by using Newlon Raphson S+5=10
method of cube root of 17 to the three decimal places.
b. Find a real of the equation x log,y x = 1.2 by Regula- Falsi
method correct to four decimal places.
3o as Apply Ganss elimination method to solve the equations §+5=10
X-+dy--z=--5
x4 v-—0r=—-12
3x~y—z=4
0. Apply Gauss -Jordan method to solve the equations
xbty+tz=9
2x -3y -+ 4z=13
3x + 4y 52 =40
4. Apply Factorization or 1.U method to solve the equations 10
3x+2v+77=4
2x +3y+z2z=15
3x+ady tz=7
£ Find an approximate rool of the equation x* = 2x =5 =0, using 10

the saethod of false position correct to three decimal places.
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